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auto const v = std::vector {147×0425×143×048};
auto x = std::accumulateSstd::beginSvT×std::endSvT× 0 T;
auto y = std::accumulateSstd::beginSvT×std::endSvT× 040 T;

Make sure you provide correct initial values to STL functions
std::accumulate and std::inner_product, otherwise you risk
truncation4
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TRAP 2: Careful with initial values passed to STL functions
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auto const a = std::vector {145×245};
auto const b = std::vector {245×345};
auto x = std::inner_productSstd::beginSaT× std::endSaT×

std::beginSbT× 0 T;
auto y = std::inner_productSstd::beginSaT× std::endSaT×

std::beginSbT× 040 T;
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145×245 h 245×345 = 1245

147h0425h143h048 = 4405


